MATrA3HH e ”” ABTOTPAKTOPHBIE & -
SAMYACTH @ =
. TOMCK, NMP. ®PYH3E 137/1, YI1. MUMYPWUHA 47/1, TEJ: 8(3822) 24-46-47, 67-98-98
34 k a_m KamA3 Banbl kapaaHHble
Ne | ApTukyn HanmeHoBaHue MpumeHeHne :‘:M
. Bont M 10x1,25x35 ocHoBHOro kapaaHHoro Bana B cbope
1 86:10 (1/59709/21) KamA3 4310, EBpo, MA3 wT
2 86:11 Bont M 12x1,25x55-6g MexoceBoro kapgaHHoro Bana B cbope KamA3 wT
3 86:26 Bont M 14x1,5x40-6g mexxoceBoro kapaaHHoro Bana B cbope KamA3, 31 KT
(853063)
4 86:38 BonTt M 14x1,5x55 Bana kapgaHHoro B cbope (11422031) EBPO KAMA3-EBPO wT
5 86:12 Bont M 16x1,5x42-6g oCHOBHOro kapaaHHoro Bana B cbope KamA3 K-T
KamA3 4310, 43114,
_ Ban kapaaHHbIit MexoceBoit 5320-2201011-01, L=715 mm) 43118, 4326, 5320,
6 86:1 (KBampaTHbIA driaHeL) 53212, 53215, 5410, wT
54112, 54115, 55102,
5511,.55111. 65115
. Ban kapaaHHbin mexoceor 53205-2201011, L=709mm (kpyrnbin KAMAS-EBPO,YPAII-
7 86:25 wT
cdnaHel 4 oTB.) 63685
8 86:21 Ban kapaaHHbIn nepegHero mocta 4310-2203011[ L=1136mm KAMA3-4310, 43114, T
) (kBagpaTHbIV donaHeL) 43118, 4326
9 86:45 Ban kapgaHHbIn nepegHero mocta 4310-2203011[ L=1136mm KAMA3-4310, 43114, W
' (kBapgpaTHbIn cbnaHey) Benkapa 43118, 4326
KamA3- 4326, 5320,
10 86:2 Ban kapgaHHbin cpegHero mocta 5320-2205011-03, L=983mm 53212, 5410, 54112, W
' (kBagpaTHbIN cbnaHey, ) 55102, (KMM-14,6e3
aenvrens)
11 86:44 Ban KapiJ,aHHbII/I cpeaHero mocta 53205-2205011-20, L=1145mm KamA3-53229 T
(kpyrnbi pnaHew 4 oTB.)
KAMA3-5320, 53212,
12 86:24 Ban kapaaHHbIi cpegHero mocta 53212-2205011-03, L=1483mm 53215, 5410, 54112, T
’ (kBagpaTHbIV oriaHeL) 54115, 55102, 5511,
55111, 65115
13 86:27 Ban kapaaHHbIn cpegHero mocta 53212-2205011-11, L=1490mm KamA3-53215, 54115, T
) (kpyrnbii onaHew, 8 oTB) 55111, 65115
KamA3-53215, 53228,
14 86:35 Ban kapgaHHbi cpegHero mocta 53215-2205011-10, L=1454mm 54115, wT
' (kpyrnbi conaHel, 4 oTB.) 55111,65111,65115,6511
6,65117
. Ban kapaaHHbi cpegHero mocta 5410-2205011-03, L=638mm KamA3-5410 (KMM-15,c
15 86:4 . wT
(kBagpaTHbIN donaHew) aenutenem)
. Ban kapaaHHbIn cpegHero mocta 5511-2205011-12, L=818mm KamA3-5511(KMM-15,c
16 86:5 . wT
(kBagpaTHbIV donaHeL,) genutenem)
17 86:22 Ban kapaaHHbii cpegHero mocta 55111-2205011-10, L=821mm KamA3-55111, 65115, T
) (kpyrnbin cnaHeL,80TB.) 54115, 53215
KamA3-53215, 53228,
18 86:23 Ban kapgaHHbIn cpegHero mocta 55111-2205011, L=786mm 54115, T
' (kpyrnbii conaxew,407B.) 55111,65111,65115,6511
6,65117
19 86:28 Bunka dnaHua kapgaHHoro Bana 53205-2205023-20 KamA3-53228, 65111 wT
20 86:19 ["arika M10x1,25 S=17 6onTa kapaaHHoro Bana Espo (1/21647/21) |KamA3-Espo wT
21 86:42 [arika M12x1,25 (251647) 6onTa kapAaHHOro Bana, C/KOHTp KamA3 wT




MATrA3HH e ”” ABTOTPAKTOPHBIE & -
SAMYACTH | =
. TOMCK, NMP. ®PYH3E 137/1, YI1. MUMYPWUHA 47/1, TEJ: 8(3822) 24-46-47, 67-98-98
34 k a_m KamA3 Banbl kapaaHHble
Ne | ApTukyn HaunmeHoBaHue MpumeHeHune :‘:M
22 86:13 [aika M14x1,5-11 S=22 6onTa MeXX0oCceBOro kapAaHHoOro Bana KamA3 wT
. [arka M16x1,5-6H S=24 GonTta OCHOBHOro KapAaHHOro Bana
23 86:18 (1/21641/11) KamA3 wT
KamA3-65111 1
24 86:31 Konbuo ctonopHoe kpectoBuHbl 53205-2205049 mMoamdukauum (Ban wT
KapAaHHbIN)
. KpectoBuHa kapgaHHoro Bana (L=119mm, d=39MM) nog KpbiLLKy, :
25 [8%%  15320/130-2201025 (manas) KamA3, 3UN.TT-4 wr
. KpecTtoBuHa kapgaHHoro Bana (L=119mm, d=39Mm) nog ctonop, :
26 (8839 15320/130-2201025 (manas) KamA3, SUN.TT-4 wr
. KpectoBuHa kapgaHHoro Bana (L=135mM, d=50MM) nog KpbiLLKy
27 |86 5320-2205025 (SonbLuas) KamA3, YPAT T
o8 86:32 KpecTtoBuHa kapganHoro Bana (L=135mm, d=50Mm) nog ctonop, KamA3 "EBpo-1", 3UJ- wT
) 53205-2201025 131
. KpectoBuHa kapgaHHoro Bana (L=135mM, d=50MMm) nog cTtonop, " o
29 86:30 6520-2201025 (Manas) KamA3 "EBpo-2 wT
. KpecTtoBuHa kapgaHHoro Bana (L=152mm, d=57mm) nog ctonop, " o
30 86:29 6520-2205025 KamA3 "EBpo-2 wT
31 86:8 KpectoBuHa kapgaHHoro Bana (L=155mM, d=50MM) nog KpbiLLKy KAMA3-4310, MA3, T- W
) 4310-2205025 150, KPA3, YPAI
. KpecTtoBuHa kapganHoro Bana (L=155mm, d=50Mm) nog ctomnop, " g
32 86:36 53205-2205030(25)-10 KamA3 "EBpo-1", MA3 wT
33 86:34 MnacTtnHa onopHas KpecToBMHbI kKapaaHHoro Bana 5320-2205050 |KamA3 wT
34 86:33 MnacTtnHa cTonopHasa KpecToBMHbI kKapaaHHoro Bana 5320-2205051 |KamA3 wT
35 86:247 Moaywika 4325-2202085 KamA3-65111,4308 T
KamA3 EBpo (6ont
36 86:20 LLlan6a npyxuHHasa d=10 (1/05168/71) KapQaHHoro Bana), wT
cmoTpu 11/298
37 |86:14  |LWaitba npyxurtas d=14 (1/05171/77) KamA3 (Gonr mexocesoro | |

kapgaHa) cmoTpu 11/300




